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June — Examination 2023

B.Com. (Part II) Examination
Corporate Accounting
(Freft <r@iaT)

Paper : BC-07

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 2x7=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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What do you mean by redeemable

debentures ?

S O | ST A WHed § 7

What do you mean by ‘Forfeiture of Shares’ ?
‘STl WO W ST A HEEd § 2

Explain ‘Purchase Consideration’.

"SR A’ TR

What do you mean by ‘Bonus Shares’ ?
‘IR STE W ST T HEed § 2

Differentiate between amalgamation and

Absorption.
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(vi) Explain ‘Super Profit’. 3. State ‘SEBI’ guidelines for issue of Debentures.
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(vii) State any three internal factors affecting the FHITT |

valuation of shares.

39 & Hodihd H gAIfad wH ot Tl @

aTaler wehi i fad=m wifsal

4. What are the maximum limits of managerial

remuneration u/s 198, 309 and 387.

Section-B 7%x4=28 o 198, 309 3R 387 & ST=wId WaHEF WRAHS
(Short Answer Type Questions) Ft sTfepan dHW = § 2
Note -— Answer any four questions. Each answer should not 5. What do you mean by purchase consideration ?

exceed 200 words. Each question carries 7 marks. . ) )
Discuss the methods of its calculation.
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s 200 w1 § AREE FHT e 6. Give journal entries in the books of purchasing
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company in case of amalgamation in the nature

2. What do you understand by share ? Explain

. . of merger.

different kinds of shares.
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7. Explain the accounting concept of goodwill. What Qus—yH
(& 3T uv)
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10. Explain the restrictions imposed by the Companies

factors should be kept in mind at the time of
valuation of goodwill ?
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8. Discuss the yield value method of valuation of

Act in respect of redemption of preference

shares.
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shares.
3T % HeaiRd &t o fafy w1 wHemET

. Give accounting procedure in case of dissolution

of a company.
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Section—-C 14%x2=28

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 14 marks.
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11. Explain different methods of capital reduction.
Give journal entries in such cases.
It | e i fafa= fafesli & wwemew) 39 gemst |
SRa gfafteat s

12.A Ltd. redeems its 4,000, 10% redeemable
preference shares of ¥ 100 each out of general
reserve on 31 March, 2021. Give journal entries if

these shares are redeemed :
(a) at par

(b) at a premium of 10%
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‘v fafiee 31 W9, 2021 F SWF T 100 T 4000, frfafea gemel & Jeite fafy & enfa w1 g

10% e qaifemrr oiei =1 o o= | 9 e A FT
H § 1 SR gfaftedr SifSw) afg s wiem (i) emed fafnfom Isit ¥ 3,50,000
(1) T-TE W (i) T = T & G A ¥ 55,000, T 52,500,
357,500
(&) 10% Hfaae w = S 2
(iii) M= 9T < 10%
13. From the following information calculate the value
(iv) =t @1 qiRghe ¥ 5,000 p.a.
of goodwill on the basis of capitalisation method : ’
(v) < geafaEr 3 4,00,000
(1) Average capital employed % 3,50,000
(vi) = Sifae % 25,000
(i1)) Net profit for last 3 years ¥ 55,000, ¥ 52,500,
357,500
(iii) NRR 10%

(iv) Fair remuneration of owner ¥ 5,000 p.a.
(v) Total Assets % 4,00,000
(vi) Current Liabilities % 25,000
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